Apoviopa  Newzdpiow 2033
fepa A - Be jée
A —a | Ag=>8|A3—y| A —>8|A5—>AZZAS

&Ja 9 , .
Ai) 0;,, +w, =2 M ﬂff = Tnm= #H_‘pl Mcgtsmqoma-n _;LN

"umpw‘ﬁ”

AZ) M=, = Wy =W, = Pi=P:

gﬁﬁﬁ_a_ . 2 2
BY) M . P=F = Tey- V_Im'aﬂ
aL A ) Esvz
- p
3 Ew:

Eevz “—
R | )'( 3'#%-%" e

- N

P
o ki B v B | o
EE\')3 2 E"’.’ ”_2 NU:B 4a? wa

B J3
ﬂ—’:ﬂ@#-ﬁ—&ﬁ=} = afE aEE G ‘*.

B2) B A=3A3
___ZE'_—1 LTIpofIyya KjE6T
b i Pa=Pa = Pazpt pghy = Potpgh

- egi XX VO T '
— . ¢ z a
O

& s Z AR peu';auuw xpar‘r‘n hl- -
°+p8h+o =Fazt,+ J h'- i
A“ v‘, Aﬂvl - (): = 3-u- _———-—a-—

1
Arpeur/u-u ”aﬂm PA* iFu' = P"Q’+ PU‘ —‘7_]%',+ P4 “'-P)'{+
r5p(w-2) = pgh; “'P-s—’f* v[gh—"’a o

."11 4”‘:/9 _11[3 o B




=amg (KaTypy 6 x=d)

ABI - SF=0=> k d= =S d:'mg,/k
ToT SF=0=> kd= g+ F -akdﬁ‘a'mg

=> d=13mg/k = dy=3d
A1= *—d = A‘-’Ql

0.1 : sp=0= d=1 ..
E79=VF=F~d.=2mg.'m3/k= EEE%

Ern’é"kAa:* 2’: R AkAd =

2
A;,_ %1"" A:-__-, 3‘.'? =, Aa—_-ad

Apa =Ry = @
Gz'tq r | -m:o‘glga , Rea=12 R=308, h,=0,25m, B=2T vy=2am/s

OMUE: Zmyl-0=mgh,~ T-hy = -91:4=1025-T-93s
= 0,2=025-025T=> 0,25T = 005 == T= 02N

9 i‘f-: -4

] g
- _—.-_L—_ I:—lu‘ F - —
E-BUE;I R A e Béu =
F‘_‘: ‘?B_f—"v‘
il 2
4.8 2
Me ooy €00D0 FL=—""—‘Q =bﬂ=9€

U Py = 35 0 = (mg-RT) » — 548287 2 =002 = ~13 =

28°= 2 = =1m

7) ‘Orav V= 05U =1M/5

I-'-—‘-B—e—--?ra: ?‘.120'51\ z ‘PQ:I:-prro'QS""-'OIQSW

Rueat R
F=Ber=214=av | Via=E-I-Rea=2-0,51=1,5V




2,2

- FL-T=0 ='>F;-_-'mg-7=f-’ -a-é"."vr =""g-7
8) sF-0 = mg-F BotR |
=1-0,3 => Upp=0,2 m/sl' 2.0
Pﬁ:-‘FJ"‘fo == —;_J‘J—‘olg = — 064W

-Q
E) sz 0,5687 7
1 mw": %L +Wm+w~r T

1 2 4
BMKE[- ZM¥ep — 3

{ ,m,v,?l__é_'m,v;2___ -Q +’mgh‘2- Thz = ha: g,5m

Ro) - ?eﬂ
Ga'Ea. FAY , m=3k3§'2=0157” > r:p/z ) M’G‘ﬂa L=2m
- AI'WOS
A =Ur=0 = am—q‘,wr:oéac,,:afwr (O]
F-T%mg =macy @ .
e - = 5] =, =2.L==
| P T=aR=3>%> 34 3
%.l Tr =émR'ﬂKov¢T=‘57‘7-—a-qcn @
> A
r jvw, ,

|aql= 4%l _ B€ha _qo5c

kg'm‘

: LoPya = 8 =7’
Paifdos W7 -TL=0=>T= 7 = 30N=T
@ F-Timg 1 F-30-30
- . ==l oy =1 F=60_ 1 _ ,r_t430=
©) T -;-,-E; 30 0,5.4 30 - 3 =2 30
» => F=7%5N
6) @= #5-30-30=30y = 15 =3dm = Am=5y5* | “t""‘f;;’mrad/s’
o { x
ae t=1s Aznll:i “tnt:j"‘s"'z:' 215‘"'} "m=a<mt=5'f:1/5
meapvt=2°l'M/s
WF= F~A7cn=?5°2)5= ’8?,5]
f 1_1_ = 3 & |
K = .;_.mu(; 4.5—.1.5),:-2- 3-25 +Q 7 400 = 37)5+ 5 ! 2,5}
K o
= —— 100 = 60
1 WF 100 6 A
T) v =10V5 m/s VS
E Vemf e Uy =Vem +Upp 2 2 v
] W =5V = 'th-érfo‘?"/s

v,
Uem= WY

Vem=Aem T2 > 13=25



Ls=10’=> Ls-1°°a’°°"t = L5 2 =) g

o Lsg=15.¢ = Lg=¥%5t telo2
a 7,5-2= 15 lcg'nls
ra +te (25,551, Li°

Ly  kgn/s)

15

: :
el e
50 2 54’*'(”

) by LVe_ 34,7,
S

/ ’
__J-ng -> 390 =30 - v‘c,!-bu‘m=13zsl

fia t>H ayaga n e vvo

¥5-30 _ 45 _ ~
F-mg = =M Otf,, = Olew = == 15mys
Uem = Vime + Uy At = 13 =10+15-4F = M::Tg =0,25
'Apa "3 2,25 Ira 25,7 w'= Qhyt - t;-QOMJS

AS
AG - At =40.02=8rad |, N——Tl-—'--—-G’CPOfCS
Pe(ts) = F Uigg= 7513 = 9:sw
£) _____.,__%F“s cma, deoine O‘W"O — HaTLTEPU Ofom
' *
Pk =7 540 = au B
r :r rud(s ' )
Aegv anouTelral aE 'APa Fog QUi o

: jFr=F!=b Fas-ugsum:.% =

= Fag-60=6-15-1 = Fag=150N.



